% l % % vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
LN SV S oaxlig-
5 5 24 2
2 I 111
A8x Z 16+ = = et x-—Z=
8137673 47372 %
3 I I I
x84 == S 6% = 4=
¥ 37873 371673
13 2 1 I I
—— — — —_ = 1 — == _ =
> 4 352 83X 57373
1 3 I I
A5x =29+ 2 = S 12X = 4=
33793 203
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% l == % % vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
I 2 1 1 3 3 1 8 2
—— =+ -x=-=(—=) —+14x-=+2=-=2-
5 5 2 4 40 2 6 3 3
2 I 35 5 1 1 1T 1 1
8x = +6+ = — =5- -+ X == ===
3 2 6 6 4 3 2 6 4
3 I 31 7 1 1
24x -8+ = —=2— -—1 —+4=(-1
3T IR T R T
I 3 2 1 9 1 I 3
——=— =X - =(—= I8 —+3—-= -
2 4 5 2 (20) 6 4 4
1
45><1+9+§=4 l-|-12><l+4=§=1—
2 2 2 3 2 2
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